
GENERAL KNOWLEDGE (lkekU; Kku)
1. What is the name of India's fastest

Computer?

Hkkjr ds lcls rst lqij dEI;qVj dk uke D;k gS\
(a) Super Computer (lqij dEI;qVj)
(b) Pram Yuva II (ije ;qok AA)
(c) Both a & b (a vkSj b nksuks)
(d) None of these (dksbZ ugha)

2. When world wetlands day observed?

fo'o vkæZ Hkwfe fnol dc euk;k tkrk gS\
(a) 2nd February (2 iQjojh)
(b) 2nd January (2 tuojh)
(c) 3rd February (3 iQjojh)
(d) None of these (dksbZ ugha)

3. Double Decker coaches were first

introduced on Indian Railways in -

Hkkjr esa Mcy Msdj Vªsuksa dh 'kq#vkr dc gqbZ\
(a) 1975 (b) 1955

(c) 1969 (d) 2007

4. President of India has approved the

conferment of ......Padma awards.

Hkkjr ds jk"Vªifr us fdrus in~e iqjLdkjksa dks vuqeksnu
iznku dj fn;k gS\
(a) 108 (b) 801

(c) 118 (d) 918

5. Coal India Ltd. was formed as a holding

company in

dksy bafM;k fyfeVsM dh LFkkiuk------ esa ,d gksfYMax daiuh
ds #i esa dc gqbZ\
(a) 1957 (b) 1975

(c) 2007 (d) 2006

6. Former West Bengal Governor and .....Viren

J. Shah died in Jordan.

if'pe caxky ds iwoZ jkT;iky vkSj -----ohjsu ts- 'kkg dk
tkWMZu us fu/u gks x;kA
(a) Journalist (i=kdkj)
(b) Industrialist (m|ksxifr)
(c) Scientist (oSKkfud)
(d) Economist (vFkZ'kkL=kh)

7. How many writers were honoured with

SAARC Literature Award 2013?

lkdZ lkfgR; iqjLdkj 2013 ls fdrus ys[kdksa dks lEekfur
fd;k x;k gS\
(a) 3 (b) 4

(c) 5 (d) 7

8. Where third Buddhist council is concerned?

rhljh cq¼ lHkk dgk¡ gqbZ Fkh\
(a) Patliputra (ikVyhiq=k)
(b) Vaishali (oS'kkyh)
(c) Vatapai (orikbZ)
(d) None of these (dksbZ ugha)

9. Tulsidas composed his 'Ramcharitramansa'

in the reign?

rqylhnku us ̂ jkepfjrekul* fdlds 'kkludky esa jpk Fkk\
(a) Babur (ckcj) (b) Akbar (vdcj)
(c) Aurangzeb (vkSjaxtsc)
(d) None of these (dksbZ ugha)

10. The original name of Mumtaj Mahal was -

eqerkt egy dk ewy uke D;k Fkk\
(a) Arjumand Bano Beghum

(vtqZean ckuks csxe)
(b) Ladli Beghum (ykM+yh csxe)
(c) Mehrunnisa (esg#fUu'kk)
(d) Roshan Ara (jks'ku vkjk)

11. During the Mughal rule, the copper coin

was known as -

eqxy ds jkT; esa rk¡ck dk flDds dks D;k dgrs Fks\
(a) Rupee (#i;s) (b) Dam (ne)
(c) Tanka (V¡dk) (d) Shamsi ('kElh)

12. Shivaji was crowned in the year

^f'kokth* dks jktk fdl o"kZ cuk;k x;k\
(a) 1664 (b) 1666

(c) 1670 (d) 1674

13. Shivaji died in the year -

^f'kokth* dh e`R;q fdl o"kZ gqbZ Fkh\
(a) 1676 (b) 1677

(c) 1678 (d) 1680

NEC MS EXAM Class (d{kk) : 8th



14. Shivaji defeated the Mughals in the battle

of -

f'kokth us eqxYkksa dks fdl yM+kbZ esa ijkLr fd;k\

(a) Purandhar (iqjU/j)

(b) Raigarh (jk;x<+)

(c) Salhar (lYgj)

(d) Shivner (f'kousj)

15. The French East India company was formed

in -

izQkafll bLV bafM;k dEiuh dk fuekZ.k dc gqvk Fkk\

(a) 1600 (b) 1660

(c) 1664 (d) 1668

16. A menu in computer contains a list of-

dEI;wVj esa ^esuw* fdldh lwph j[krk gS\

(a) Commands (dekUM)

(b) Data (MkVk)

(c) Objects (vkCtsDV)

(d) Reports (jhiksVZl)

17. In computer at which button is help menu

available?

dEI;wVj esa ^gsYi esuq* fdl cVu esa gksrk gS\

(a) End (baM) (b) Start (LVkVZ)

(c) Turn Off (VuZ vkWiQ) (d) Restart (jhLVkVZ)

18. How many island of India are located in

the Bay of Bengal?

Hkkjr ds fdrus }hi caxky dh [kkM+h ij vofLFkr gS\

(a) 190 (b) 204

(c) 300 (d) 210

19. Kashmir Himalayas is famous for its

d'ehjh fgeky; fdlds fy;s e'kgqj gS &

(a) Scenic Beauty (lqUnj oknh)

(b) Dal Lake (My >hy)

(c) Glaciers (Xys'kh;j)

(d) Poverty (xjhch)

20. Nanga Parbat has a height of .....meter

uaxk ioZr dh m¡pkbZ ehVj esa D;k gS\
(a) 8126 (b) 8136

(c) 8137 (d) 8138

21. The constitution of India was adopted on.....

Hkkjr dk lafo/ku dc ykxw fd;k d;k\

(a) 26th January, 1950 (26 tuojh] 1950)

(b) 26th January, 1949 (26 tuojh] 1949)

(c) 26th November, 1949 (26 uoEcj 1949)

(d) 15th August, 1947 (15 vxLr 1947)

22. Who founded the 'Amrit Bazar Patrika'?

ve`r cktkj if=kdk dh LFkkiuk fdlus dh\

(a) Girish Chandra Ghosh (fxfj'k paæ ?kks"k)
(b) Harish Chandra Mukherjee

(gfj'k pUæ eq[kthZ)

(c) Surendra Nath Banerjee (lqjsUæ ukFk cuthZ)

(d) Sisir Kumar Ghosh (f'kf'kj dqekj ?kks"k)

23. Who, among the following, was called

'Tagore of Punjab'?

^iatkc dk VSxksj* fdls dgk x;k Fkk\

(a) Puran Singh (iqju flag)

(b) Mohan Singh (eksgu flag)

(c) Kartar Singh Duggal (djrkj flag nqXxy)

(d) Amrita Pritam (ve`rk fizre)

24. The freedom fighter who died in Jail due to

hunger strike was -

Hkw[k gM+rky dh otg ls fdl Lora=krk lsukuh dh e`R;q
dkjkxkj esa gqbZ Fkh\

(a) Bhagat Singh (Hkxr flag)

(b) Bipin Chandra Pal (fcfiu paæ iky)

(c) Jatin Das (tfru nkl)

(d) Subhash Chandra Bose (lqHkk"k paæ cksl)

25. When did Cabinet Mission arrive in India?

^dSfcusV fe'ku* Hkkjr esa dc 'kq# gqbZ \
(a) 1942 (b) 1945

(c) 1946 (d) 1947
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GENERAL SCIENCE (lkekU; foKku)
1. Parasec is the unit of -

ikjklsd fdldh bdkbZ gS\

(a) Distance (nwjh) (b) Time (le;)

(c) Intensity of Light (izdk'k dh rhozrk)

(d) Magnetic Line (pqEcdh; js[kk)

2. One light year is approximately equal to -

,d izdk'k o"kZ yxHkx fdlds cjkcj gksrk gS\

(a) 1011 km (fd-eh-) (b) 1015 km(fd-eh-)

(c) 1016 km (fd-eh-) (d) 1020 km (fd-eh-)

3. Surface tension depends on -

i`"B ruko fdlij fuHkZj djrk gS\

(a) Nature of the liquid (æO; dh izd`fr)
(b) Temperature of the Liquid

(æR; dk rkieku)

(c) Atomospheric Pressure (okrkoj.k ncko)

(d) All of these (mijksDr lHkh)

4. Earliest thermometer was developed by

FkjeksehVj dk orZeku Lo#i fdlus fodflr fd;k\

(a) Celsius (lsYfl;l)

(b) Kelvin (dsfYou)

(c) Fahrenheit (iQkjsugkbZV)

(d) Galileo (xSfyfy;kss)

5. Mercury thermometers can be used to

measure temperature upto

ikjk FkekZehVj dk mi;ksx rkieku ekius ds fy, fdrus
fMxzh lsfYl;l rd fd;k tk ldrk gS\
(a) 260°C (b) 100°C

(c) 360°C (d) 500°C

6. Which of the following substances has

greatest specific heat?

fuEu esa ls fdl inkFkZ ds ikl lcls T;knk fof'k"V rki
gksrk gS\

(a) Iron (yksgk) (b) Water (ikuh)

(c) Copper (rk¡ck) (d) Mercury (ikjk)

7. Sound waves cannot pass through above

èofu rjax fdlesa xeu ugha dj ldrh gS\
(a) A solid-liquid mixture

(Bksl vkSj æO; dk feJ.k)
(b) An ideal gas (vkn'kZ xSl)
(c) A liquid gas mixture (æO; xSl feJ.k)
(d) A perfect vaccum (,d iw.kZ fuokZr LFkku)

8. The loudness of sound depends upon

èofu dh rhozrk fdlij fuHkZj djrh gS\
(a) Velocity (xfr)
(b) Pitch (ihp)
(c) Amplitude (,EiyhP;wM)
(d) Wavelength (rjaxnSè;Z)

9. In vaccum the speed of light depends upon:

fuokZr esa izdk'k dk osx fdlij fuHkZj djrh gS\
(a) Frequency (vko`fr)
(b) Wavelength (rjaxnSè;Z)
(c) Velocity of the source of light

(izdk'k ds lzksr dh xfr)
(d) None of these (dksbZ ugha)

10. The primary cell is -

izkFkfed dksf'kdk gS &
(a) Secondary Cell (f}fr;d dksf'kdk)
(b) Primary Cell (izkjafHkd dksf'kdk)
(c) Both a & b (a vkSj b nksuks)
(d) None of these (dksbZ ugha)

11. Neutron was discovered by

U;wVªkWu dh [kkst fdlus dh &
(a) J. J. Thomson (ts- ts- FkkWelu)
(b) Chadwick (pSMfod)
(c) Rutherford (jnjiQksMZ)
(d) Priestley (izhLVys)

12. Trataric Acid is obtained from -

VªSVjhd vEy fdlls izkIr fd;k tkrk gS\
(a) Apple (lsc)
(b) Citrous Fruit (lkbVªl iQy)
(c) Grapes (vaxwj) (d) Tomato (VekVj)
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13. The name hydrogen was proposed by

gkbMªkstu uke fdlds }kjk izLrkfor fd;k x;k\
(a) Bohr (cksj)
(b) Rutherford (jnjiQksMZ)
(c) Lavosier (ySHkksth;j)
(d) Cavendish (dSosafMl)

14. The sweetest of all sugars is -

ehBh phuh gS&
(a) Glucose (Xywdkst) (b) Lactose (ySDVkst)
(c) Sucrose (lwØkst) (d) Fructose (izQwDVkst)

15. Global warming may result in -

HkweaMfy; rkiØe o`f¼ dk ifj.kke fdlls gks ldrk gS&
(a) Flood (ck<+) (b) Cyclone (pØokr)
(c) Decrease in forest productivity

(taxy esa mRikndrk dh deh)
(d) All of above (mijksDr lHkh)

16. The discovery of viruses was made by -

^ok;jl* dh [kkst fdlds }kjk gqbZ Fkh\
(a) Ivanowski (bokuksoLdh)
(b) Beijerinck (cstsjhUd)
(c) Miller (ehyj)
(d) Stanley (LVuys)

17. Smallest organism which cause disease -

lcls NksVk tho ftlls fcekjh gksrh gS&
(a) Bacteria (cSDVsfj;k)
(b) Virus (ok;jl)
(c) Mycoplasm (ek;dksIykTe)
(d) All of above (mijksDr lHkh)

18. Due to bite of mad dog the disease

hydrophobia is caused by

ikxy dqÙks ds dkVus ls gkbMªksiQksfc;k fcekjh dh otg gS&
(a) Rabies Virus (jsfct ok;jl)
(b) Adeno Virus (,Mhuks ok;jl)
(c) Polio Virus (iksfy;ks ok;jl)
(d) Influenza (baÝY;watk)

19. The disease AIDS spread

AIDS fcekjh fdlls iSQyrh gS &
(a) By insects (fdM+ksa ds dkVus ls)
(b) By breathing (lk¡l ysus ls)
(c) By Sexual Contact (;kSu laca/ ls)
(d) None of these (dksbZ ugha)

20. Infectious disease small pox is caused due

to -

pspd tks ,d laØe.k fcekjh gS] mldh otg gS&

(a) Virus (ok;jl) (b) Bacteria (cSDVsfj;k)

(c) Fungi (iQiWQwnh) (d) Algae ('kSoky)

21. Pulses are good souce of

nkysa fdldk eq[; Jksr gSa\

(a) Protein (izksVhu)

(b) Carbohydrate (dkjcksgkbMªsV)

(c) Fat (olk)

(d) Cellulose (lSY;wykst)

22. Which one of following is good source of

protein?

fuEufyf[kr esa ls dkSu izksVhu dk eq[; lzksr gS\

(a) Gram (puk) (b) Pea (eVj)

(c) Soyabean (lks;kchu)

(d) Pigeon Pea (NksVh eVj)

23. Indian produces the maximum amount of -

Hkkjr esa lokZf/d ek=kk esa mit fdldh gksrh gS\

(a) Potato (vkyw)

(b) Sweet Potato (ehBk vkyw)

(c) Tea (pk;) (d) Corn (dkWuZ)

24. Major 'Basmati Rice is produced in state -

lcls T;knk cklefr pkoy dh mit fdl jkT; esa gksrh gS\

(a) Kerala (dsjy)

(b) Andhra Pradesh (vka/z izns'k)

(c) Karnataka (dukZVd)

(d) Uttar Pradesh (mÙkj izns'k)

25. Litmus is obtained from -

fyVel fdlls izkIr fd;k tkrk gS\

(a) Bacteria (cSDVsfj;k)

(b) Fungi (iQiQwanh)

(c) Algae ('kSoky)

(d) Lichen ('kSokd)
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MATHEMATICS (xf.kr)
1. What least number of five digits is exactly

divisible by 41?

ik¡p vadks dh og dkSu lh NksVh ls NksVh la[;k gS tks 41
ls iw.kZ foHkkftr gS\
(a) 10045 (b) 10004

(c) 10041 (d) 10025

2. The largest four digits number exactly

divisible by each of 12, 15, 18 and 27 is

pkj vadksa dh og dkSu lh cM+h la[;k gS tks 12] 15] 18
vkSj 27 ls foHkkftr gS&
(a) 9690 (b) 9720 (c) 9930 (d) 9960

3. The sum of the H.C.F. and L.C.M. of two

numbers is 680 and the L.C.M. is 84 times the

H.C.F. If one of the number is 56, the other is :

nks la[;kvksa ds e- l- ,oa y- l- dk ;ksx 680 gS ,oa y- l-
e- l- dk 84 xq.kk gSA vxj ,d la[;k 56 gS rks nwljh la[;k
gS&
(a) 8 (b) 12 (c) 84 (d) 96

4. If two numbers are in the ratio 5 : 7 and

their L.C.M. is 315, then their product is -

vxj nks la[;kvksa dk vuqikr 5 % 7 gS ,oa mudk y- l-
315 gS rks mu la[;kvksa dk xq.kuiQy gksxk&
(a) 2358 (b) 2385

(c) 2538 (d) None of these (dksbZ ugha)

5. 280 organges are divided among 50 girls

and boys so that each boy gets 5 oranges

and each girls gets 7 oranges. How many

girls are there ?

280 larjk 50 yM+ds vkSj yM+fd;ksa esa ck¡Vk x;k izR;sd
yM+ds dks 5 larjs vkSj izR;sd yM+fd;ksa dks 7 larjs feys rks
ogk¡ fdruh yM+fd;k¡ gksaxh\
(a) 40 (b) 15 (c) 35 (d) 60

6. Solve it @ ljy djsa


























−−−÷−

6

1

3

1

2

1
1

2

1

4

1
1

4

1
2

2

1
7

(a)
9

2
(b) 1 (c)

2

1
4 (d)

288

77
1

7. If a + b = 5 and 3a + 2b = 20 then (3a + b) = ?

vxj a + b = 5 vkSj 3a + 2b = 20 gS rks (3a + b)

= ?

(a) 10 (b) 15 (c) 20 (d) 25

8. 2(?)9612500 =+

(a) 81 (b) 3 (c) 10 (d) 9

9. What is the smallest number by which 3600

must be divided to make it a perfect cube?

og dkSu lh NksVh la[;k gS] ftlls 3600 dks foHkkftr
djus ij ,d iw.kZ ?ku cukrh gS\
(a) 9 (b) 50 (c) 300 (d) 450

10. Find the average of all the numbers

between 6 and 34 which are divisible by 5

6 ,oa 34 ds chp 5 ls foHkkftr gksus okys lHkh la[;kvksa
dk vkSlr fudkysaA
(a) 9 (b) 20 (c) 39 (d) 66

11. Hitesh is 40 years old and Ronnie is 60

years old. How many years ago was the ratio

of their ages 3 : 5?

ghrs'k 40 o"kZ dk gS ,oa jksuh 60 o"kZ dk gSA fdrus o"kZ igys
nksuksa ds mezksa dk vuqikr 3 % 5 Fkk\

(a) 5 Yrs. (o"kZ) (b) 10 Yrs. (o"kZ)

(c) 20 Yrs. (o"kZ) (d) 37 Yrs. (o"kZ)

12. If 20% of A = 30% of B = 
6

1
 of C, then A : B

: C is ?

;fn A dk 20»  = B dk 30% = C  dk 
6

1
 gks rks

A : B : C D;k gksxk\

(a) 2 : 3 : 16 (b) 3 : 2 : 16 ()
(c) 10 : 15 : 18 (d) 15 : 10 : 18

13. By selling toffees at 20 for a rupee, a man

losses 4%. In order to gain 20%, how much

for a rupee must he sell?

1 #i;s esa 20 pkWdysV cspus ij ,d O;fDr dks  4» dh
gkfu gksrh gS rks 20» dh ykHk ds fy, 1#- esa fdrus
pkWdysV cspuh gksxh\
(a) 16 (b) 125 (c) 26 (d) 10
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14. A and B can do a piece of work in 12 days

B and C can do it in 15 days and C and A

can do it in 20 days. A alone can do the

work in -

v vkSj c 12 fnu esa fdlh dke dks djrs gSaA c ,oa l bls
15 fnuksa esa djrs gSaA l ,oa v bls 20 fnuksa esa djrs gS rks
v vdsyk mls fdrus fnuksa esa djsxk

(a)
3

2
15  days (fnu) (b) 24 days (fnu)

(c) 30 days (fnu) (d) 40 days (fnu)

15. Two trains approach each other at 30 km/

hr and 27 km/hr from two places. 342 km

apart. After how many hours will they meet?

342 fd-eh- dh nwjh ls nks Vªsus 30 fd-eh-@?kaVk ,oa 27 fd-
eh-@?kaVk dh jÝrkj ls ,d nwljs dh rjiQ pyrh gS rks fdrus
?kaVs ckn os ,d nwljs ls feysxhA
(a) 5 hrs. (?kaVs) (b) 6 hrs. (?kaVs)
(c) 7 hrs. (?kaVs) (d) 12 hrs. (?kaVs)

16. A train 132 m long passes a Telegraph post

in 6 seconds. The speed of the train is

,d Vªsu tks 132 ehVj yEch gS ,d VsyhxzkiQ [kaHks dks 6
lsdUM esa ikj djrh gS rks Vªsu dh xfr D;k gS\
(a) 70 km/hr (70 fd-eh-@?kaVk)
(b) 72km/hr (72 fd-eh-@?kaVk)
(c) 79.2 km/hr (79-2 fd-eh-@?kaVk)
(d) 80 km/hr (80 fd-eh-@?kaVk)

17. A sum when reckoned at 12% S.I. amounts

to Rs. 2405 in 4 years. Find the sum?

,d jde tc 12» lk/kj.k C;kt dh nj ls 4 o"kks± ds fy;s
yxk;k tkrk gS rc og 2405 #- gks tkrk gS rks og jde
fdruh gS\
(a) Rs. 1625 (1625 #-)
(b) Rs. 260 (260 #-)
(c) Rs. 280 (280 #-)
(d) Rs. 756 (756 #-)

18. A sum of money at simple interes amounts

to Rs. 2240 in 2 years and Rs. 2600 in 5

years, The sum is

,d jde lk/kj.k C;kt dh nj ls nks o"kks± esa 2240 #- ,oa
ik¡p o"kks± esa 2600 #- gks tkrk gS rks og jde gS\
(a) Rs. 1880 (1880 #-) (b) Rs. 2000 (2000 #-)
(c) Rs. 2120 (2120 #-) (d) Rs. 2800 (2800 #-)

19. ?
16

3
of

2

1

8

3
=+   /

2

1

8

3
+  dk ?

16

3
=

(a)
16

15
(b)

128

21
(c)

32

15
(d)

4

3

20. Find the cost of carpeting a room 12 m Long

and 8 m broad with a carpet 75 cm wide at

Rs. 20 per m2

12 ehVj yEcs ,oa 8 ehVj pkSM+s ,d dejs esa dkyhu yxkus
dk [kpZ D;k gksxk\ tc 75 ls-eh- pkSM+s dkyhu 20 #- izfr
oxZ ehVj dh nj ls miyC/ gSA
(a) Rs. 2560 (2560 #-) (b) Rs. 750 (750 #-)
(c) Rs. 570 (570 #-) (d) Rs. 870 (870 #-)

21. Find the area of a rhombus, one side of

which measures  20 cm and one diagonal

24 cm.

,d leprqZHkqt dk {ks=kiQy Kkr djsa tc ,d Hkqtk 20 ls-
eh- dh gS ,d fod.kZ 24 ls-eh- dk gSA
(a) 384 cm2 (384 ls-eh2) (b) 300 cm2 (300 ls-eh2)
(c) 483 cm2 (483 ls-eh2) (d) 834 cm2 (834 ls-eh2)

22. Find the value of x if 
x

10
3x =−

dk eku Kkr djsa ;fn 
x

10
3x =−

(a) 5 (b) 4 (c) 2 (d) 0

23. If the radius of a circle is increased by 50%,

the area will increased by .....percent

vxj fdlh o`r ds f=kT;k dks 50» c<+k fn;k tk;s rks mlds
{ks=kiQy esa fdrus izfr'kr dh o`f¼ gks tk;sxh\
(a) 200% (b) 125%

(c) 150% (d) 100%

24. A lead cylinder with radius 3 cm and height

4 cm is melted and all the lead so obtained

is molded into a ball what is the radius of

the ball?

,d 'kh'ks ds csyu dh f=kT;k 3 ls-eh- gS vkSj mQ¡pkbZ 4 ls-
eh- ] ftls xykdj ,d xsan cukbZ tkrh gS mls xsan dh f=kT;k
D;k gksxh\
(a) 3cm (3 ls-eh-) (b) 6cm (6 ls-eh-)
(c) 9cm (9 ls-eh-) (d) None of these (dksbZ ugha)

25. The value fo log (1000 x 100) is -

log (1000 x 100) dk eku D;k gksxk\
(a) 5 (b) 4

(c) 3 (d) 2
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ENGLISH (vaxzsth)
1. Write an essay on any one of the following

in about 150 words. (4 Marks)

(a) Student Life

(b) The Internet

2. Write a letter to a newspaper, about a bad

piece of road that is in need of repair (in

about 100 word). (4 Marks)

3. Write down synonyms of the following.

(2 Marks)

(a) Hazardous (b) Hijack

(c) Diagnose (d) Eruption

4. Write the antonymus of the followings

words. (2 Marks)

(a) Deliver (b) Entire

(c) Economical (d) Activity

5. Write one words for given group of words.

(2 Marks)

(a) A short journey for pleasure.

(b) Science of weight.

(c) Reasoning power of the mind.

(d) Fear of dead body.

6. Fill in the blanks with appropriate

preposition. (2 Marks)

(a) She is proud .....her wealth.

(b) He is envious ......my achievements.

(c) He was astonished.....the sad news.

(d) He is tired......poverty.

7. Change into passive voice. (2 Marks)

(a) Don't insult the poor.

(b) Mr. Thakur had been writing this book

for six months.

(c) Everyone will do his homework.

(d) Tell her to read the Gita.

8. Change into indirect speech. (2 Marks)

(a) They said, "We cannot live without

water"

(b) He said to me, "I shall write a letter"

(c) He said "I had to do the work"

(d) He said, "I went to Patna Yesterday"

9. Make sentences from the following phrases.

(2 Marks)

(a) Hue and Cry (b) As a matter of fact

(c) Above Board (d) On the alert

10. Translate into English (3 Marks)

(a) vksg! vkt ekSle fdruk vPNk gSA
(b) yM+ds rks yM+ds] yM+fd;k¡ Hkh varfj{k esa tkus yxh gSA
(c) eSa vf/d ls vf/d ipkl #i;s ns ldrk gw¡A
(d) blls ge rjg&rjg dh f'k{kk xzg.k djrs gSaA
(e) cpiu esa gh buds firk&ekrk dk nsgkUr gks x;k FkkA
(f) d`i;k okilh Mkd ls mÙkj nsaA
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HINDI (fgUnh)
1. fuEufyf[kr esa ls fdlh ,d ij 150 'kCnksa esa fuca/ fy[ksaA

(4 vad)

(a) Hkz"Vkpkj

(b) lektokn

2. fdlh nq?kZVuk dk o.kZu djrs gq, vius fe=k dks i=k fy[ksaA
(yxHkx 100 'kCnksa esa) (3 vad)

3. fuEufyf[kr 'kCnksa ds laf/ foPNsn djsaA (2 vad)

d- vfHk"ksd [k- egksn;

x- uk;d ?k- ifo=k

4. fuEufyf[kr 'kCnksa ds lekl foxzg djsa&

(2 vad)

d- pkSjkgk [k- dBiQksM+ok

x- diM+k&yÙkk ?k- fxfj/j

5. fuEufyf[kr 'kCnksa ds pkj&pkj i;kZ;okph 'kCn fy[ksaA

(2 vad)

d- e`R;q [k- okfj'k

x- czkã.k ?k- eqfu

6. fuEufyf[kr v'kq¼ okD; dks 'kq¼ okD; esa fy[ksaA
(2 vad)

d- gekjs lkekuksa dk [;ky jf[k;sxkA

[k- jk/k us ekyk xw¡/ yhA

x- mifLFkr yksxksa us ladYi fy;kA

?k- jkts'k vfxze cq/okj dks vk,xkA

7. fjDr LFkkuksa dks iwfrZ dhft, (2 vad)

d- ;ksx lk/uk esa ------vkSj 'kkdkgkj dk fo'ks"k egRo gSA

[k- bl ?kVuk esa fdlh ----miæo ds cht fufgr gSaA

x- vxj vHkko u gks rks------dkSu iwNsa\

?k- fonw"kd dks ns[kdj n'kZdksa us -----------fd;kA

8. fuEu fo'ks"; ls fo'ks"k.k cuk;saA (2 vad)

d- pqxyh [k- rcyk

x- dkSek;Z ?k- bafæ;

9. fuEufyf[kr eqgkojksa dk okD; iz;ksx }kjk vFkZ Li"V djsaA
(2 vad)

d- xqM+ xkscj djuk [k- pk¡n ij Fkwduk

x- ?kMksa ikuh iM+ tkuk ?k- vaxwBk pweuk

10. fuEufyf[kr nksgs dk vFkZ 100 'kCnksa esa Li"V djsaA
(3 vad)

d- tks jghe mÙke izd`fr] dk dfj ldr dqlaxA
panu fo"k O;kIr ugha] yiVs jgr HkqtaxAA


